www.prepp.in

prepp

Your Personal Exams Guide

UGC NET PAPER 3 JANUARY 03, 2017 SHIFT 1 PUBLIC ADMINISTRATION QUESTION PAPER

J

21

Time : 10Urs | [Maxumum Marks : 150
Number of Pages in this Booklet : 32 Number of Questions in this Booklet : 75
Instructions for the Candidates W&TI‘IERTI T TerT FIE'ST
L. Write vour roll number in the space provided onthe wop ol | | 70 7= = TS T=as T W AT T T [wET |
. this page. . _ ] . , 12 =4 m—rrtrr T TR EAEE e e ] ‘
2. This paper consists of seventy five multiple-choice tvpe of | 'qJT,A.lT DI e R T eE Ry ESCaflt Fen ] = :|‘|qr| |
. iLl“i?i““"’]’*- " G B T T ?JN:H IA- 'Hmw T T-rfr T [TTe e
m1]{:-,,L*EJ]\]E;::;:LxLa]]l:L]Iln:h:I\]itISL][‘tul]:111;131-31][‘:31:1Etli‘qf.limtd o Wll T V-”q” l\ﬂﬁw I ST Ao ;HF” J
Lo open the booklel and compulsorily examine 1t as below (i) e Mq”' ST }_ lNlU I{ Mq’l S T il
: ﬂ*?‘TITJ‘f |_!F|Tn,_.-—n- ""II {v‘l'*{ H”I"—r_:|'l|4<'|':r:
i) Tohave access o the Questien Boaoklel tear o] the pape e =
scal on the edoe of this cover page. Do not aceept a booklet TR T
without sticker-seal and do not accept an open baoklet, (i) HaT Y 0¥ T {TEVTHR IR oAz
(i1 Tally the numher of pages and number of questions in LTE':lT ﬁ i‘fﬂétl'[ Gl a‘*‘@' e 9% FT A ?‘T T:[T
the hooklet with the information printed on the cover & | a\_iﬂli gl 'CI'HHEF}T El;lﬂ TE‘FE'W &N ﬁ Bl EIT
page. Faulty booklets due to pages/iquestions missing ™ A H’HT'ETT IT Bl AT TRl ol TR =i
or duplicate or not in serial order or any other sfeaet qiser =i “T EI-TT QRN 3?-1"[ HHET E'-ﬁ‘
diserepancy should be got replaced Immudmteh hy a ﬁazﬁ'\r vy I T TE T 1:|Tﬁ=rcm i
correct booklet from thL invigilator within the period m rrq HTTRT T o= ﬁr-a:'[ ﬁ:]‘]‘?j‘l‘[ i g?q—qm— aE T
of 3 minutes. Afterwards, neither the Question Booklet T ATTE W"Jﬁﬂ'ﬂ 1Lk By e 1 ) S| ol -y B L o
wl_ll b r_‘upldt_f:”[l nor any extra l]['_HL will he civen. aﬂﬁaﬁ T EﬂT T |
(1) _.-:‘aitcr this 1-‘c1'|r||.:z15|:tun Is aver, l.hc FFxl Booklet Numbc:' (i} el b= s el e IT{TH*:F =] _Ta:a OMNVR Tﬁq DEg ,rT-h,] =T
.x‘hnultl be -:_‘Hl«:.:[«'.:tl an the f:}l'\,-'l R Sheet _aful‘ the OMR 27 OMR T 7 o7 =0 T 'JIJrch Y \j“rﬂ &
?)_hi?i?[ Moumber shoold e entered on dus Test Bookler (iv) pre] ‘?{'I'-'_Fﬂ d;n—{ OMR o7 =, A =5 c|||fu DIty
A e G| C T g1 o e S g < OMR R e
immediately t-,,pml the matter 1o the mvigilalor for A 1,_9:}_ FHT mTiﬁ_E—rT = 37,} R
replacement of the lest boaklet / OMR Sheel. * i‘q“h i ndl AL e 'T CL (20 L300 14 TeH 1T
4. Each item has four allernative responses marked (L (20, (3} SR H'M' el ST T B G W AH FA B 7]
ane (41 You have to darken the cirele as indicated below on T A T E
the correct response against cach iten. FETEI0T @ @ @ @
Fxample : @ @ AR (3) WA Fod 7
where (3] 15 the correct responsce. Ba MWWWWEWWU\IRW & ool
S0 Your respanses Lo the ttems are to be indicated in the MR ErE i 31 {}\TI{ REERES e 7y e -3{ A T AT
Sheet given inside the Booklet only. [1 vou mark your T T 37 |T_1;'-|||-Jr;r-| ERG FIT?T nTrJr——:rF'TnT
response wl any place other than in the circle in the OMR ooy T v TR i—,E['HI:{'r_,{‘_,F Py |
sl bl becvalnaten, 7. B (Rough Work) 38 i % a9 g w7 &t |
{—.]' EL;;K£||111\.<:h::1':1$4 it %r-j[:.-'cln‘1]115]Lllnilcjial'nfslillj}[i.lh_ o . AR T OMR TR iR "—I_T‘f Tﬂ'l‘r q_— STEAT ST T, “|F'
5\’ Ii'iw_..-lalil a.~,.-1'i£l|1*. ;':_:L:r[][“{;;-111;;.[&(:;[ Nll:l.]:l[t‘.::[i I‘]u;;u [\]a[EJIHLl:u 01 Pl T UFTFT e 6” ;HA L “r:.rH ]:|l-'|lI J{T“fﬁ] II?iH
any mark on any part ol the OMR Sheet, excepl for the space jd” LHGM e el e SR ?M e :FE
allotted for the relevant entries, which may disclose vour o T Tpm_r T ‘{T—[ e STE T A 5 T
ilentity, or use abusive language or emiploy any other unfair ST AR ”"""" AT RS EET § &5eT T T W (e
means, such as change of response hy scratching or using ’MI*{I -JI T TR = \H“-#’I z |
while fluid, vou will render voursell liable to Li]th]dll[J-LdlE(}D. 9, $T'T{Er'7r T HHTE ——r REN GUROI IR EES rvl-‘:ﬂT —plﬁfl gl
9. Youhave to return the Original OMR Sheet to the invizilators m—ng HTETTE E W‘RWT TR T‘ﬂ*i_d U T "l—?q' T
at the end of the cxamination compulsorily and must neog i AR —ﬁq A5 | W ST T T T el T W
;r:][x[x\r x];w“1l]|\llt:xf.mtl“1“5\:d|:1 :uhttHI] “lf[‘]”:;”1113:1_‘1':]_[!]'I];"]ti-ﬂ:(&-‘lﬂ_ 1:‘.|Ln S T o W
i L 1 R AR i LA
ccmckluxi{wr;m eramination. : k L3 E%W 3 TTT R il s
L} Use only Black Ball point pen. 1. o 955; T W (e b IE” 4l ﬁm <A ko
L1 Use of any calculator or log table elc., is prohibited. AT i ¢ |
[2. There is no negalive mar ks for incorrect answers, 2, WWW%‘;’W ST 3!'3-?"[31‘5 b v wo
L3 Incase ot any LlJ.aLn,]any i the Enelish and Hindn versions, | 13, "-l'IT:? AT AT TEET TEeTe I wE et gT, AT s e
Eoglish version will be laken as Tinal. AqEY T S

e P 1 L TCTTH

P.T.0.


www.prepp.in

www.prepp.in frepp

Your Personal Exams Guide

PUBLIC ADMINISTRATION
PAPER - TII

Note : This paper contains seventy five (73) objective type questions of two (2) marks cach. All

L.

b

qUCHﬂ()IIH dIC C()IT]}'}IU] SOUY.

“Administration 18 now so vast an arca that a philosophy of administration came closc to
being a philosophy of Iife.” This statement was made by

(13  L.D. White (2)  Marshal Dimock
(3y  Chester Barnard (4)y  Willoughby

Consider the following statcments regarding the public choice theory :

(1) Itecame into existence as a critique ol Bureaucratic Model of administration.
(i1) It promotcs democratic administration.

(i11) It locates Public Administration within the domain of politics.

(1v) Itadvocates for institutional monopoly.

Sclect the correct answer by using codes given below .

Codes :
(1) (1), (i), (111) (2) (1), (111), (1v)
(3) (), (), (1v) (4)y (1), (u), (ui), (1v)

Which of the following 1s not a philosophical base for New Public Management 7
(1y  New Publhic Admimstration (2)  Public Choice Theory

(3)  New Liberal Ideology (4)  New Right Philosophy

Assertion (A) : Today public-private differences are fading.

Reason (R) : Public scctor is mcreasingly penctrated by the metaphor of the market, of
running government like a business.

Codes :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) arc correct, but (R) 15 not the correct explanation of (A).
(3)  (A)is truc, but (R) 1s talsc.

(4y (A s false, but (R) 15 correct.

Paper-IIIT 2 JA-014-17
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Behavioural approach makes a plea for

(1)  micro level analysis

(1) deductive reasoning

(1) empirtcal study of data from the held

(1v)  wvalue Iree scientilic method

Select the correct answer by using code given below :

(1) () (), (v) (2) (), (), (1v)
(33 (). (1), () (4) (1), (), (), (1v)

6.  Whilc advocating specialization in the techniques of supervision, which of following is
recommended by W.F. Tavlor 7

(1}  Functional Foremanship
(2)  The one best way to perform a job
(3)  Cooperation not Individualism

4y Mental Revolution

7. In order to address the difficulues due to lack of coordination among various

; s : ; ] ; ; ; ;
governmental institutions/agencics, the I Minnowbrook Conference introduced a new
concept ol

(1) Interoperability (2)  Boundary Spanning

(3)  Interdisciplinary (4)  Supportive colluborative research

8. Which one ol the lollowing 1s incorrect regarding the features ol Entrepreneurial

government ?

(1)  Ttis result-oriented

(2)  Itis market-orented

(3) It promotes burcaucratic mechanism

(4y It is a catalytic government

9. Which of the following is not advocated by Herbert Simon 7
(1) Satisficing man
(2)  Bounded Rationality
(3)  Intclligence, Design and Choice Model
(4)  Implicit favourite

Paper-IIIT 4 JA-014-17
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Consider the tfollowing characteristics of Job Enrichment given by Herzberg, Sclect
correct answer by using codes given below :

(1) Itis concerned with iternal motivation to work.
(1) Itdesignates a production and profit-oriented way ol managing.
(1) Itis a means of making work experience meaningful for the people.

(1v) People are motivated by rewards. privileges or punishment.

Codes :
(1) (1), (i), (1i1) (2 (in, (iin, (iv)
(3) (1), (iii), (1v) (4)y (i), (iD), (i) and (iv)

In which of the following arca the Theory Y is not relevant in line-staff relationship 7
(1} Policy-making

(2)  Line-staff contlicts of complex nature

(3)  Team work at each level ol organisation

(4y  Managers who have both line and statt responsibilitics

‘Bureaucracy changes knowledge o secrecy and competence mto  mystery.’
Who attnibuted this 1dea ?

(1} Heecl (2)  Karl Marx
(3)  Marun Albrow (4)  Peter Blau

Who among the following referred "Gopher Delegation™ and “Stewardship Delegation™ ?

(1y 1.D. Millet (2)  Stephen R, Covey
(3)  George R, Terry (4)y  Albert K. Wickesherg

Assertion (A) @ Moral and productivity are directly related.

Reason (R) : The motivation thinkers find solution of industrial problems in human
psychology.

Codes :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are correct, but (R) 1s not the correct explanation ol {(A).
(3)  (A)istrue, but (R)1s false.

4y (A) s false, but (R) 15 correct.

Paper-TII 6 JA-014-17
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In Leadership theory, the idea of “positive reinforcement” was developed by
(1) Robert Bluke (2)  Kurt Lewn

(3y  B.F. Skinner (4)  Ralph White

Which of the lollowing 1s not the approach to the concept of decentralisation as 1dentified

by James W. Fesler ?
(1}  Doctrinal Approach (2)  Conceptual Approach

(3)  Political Approach (4)  Administrative Approach

Who among the tollowing deserves credit for making a beginning in the arca ot decisional
studies in Comparative Public Administration 7

(1} Herbert S1imon (2)  William Gore

(3)  Martin Landau (4)  James March

Who among the following is called “the prophet of management” ?
(1y NP Follet (2)  Frederick Taylor

(3) Henn Fayol (4)  Chester Barmard

Which of the following books are written by F.W. Riggs ?

(1) The Ecology ol Administration,

(i1)  Thailand : The Modernization of Burcaucratic polity.

(i11)  Administration in Devcloping Countries : The Theory of Prismatic Socicty,

(1v) Models and priorities in the Comparative study of Public Administration.

Codes :
(1) (0, (1), (111) and (1v) (2) (1), (11} and (111)
(3) (1), {11) and (1v) () (1), (1) and (1v)

The institution of Parliamentary Commissioner in United Kingdom was cstablished 1n

which ol the following year ?
(1y 1967 (2) 1991
(3) 2000 (4) 2005

Paper-TII 8 JA-014-17
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‘Filibustering tacties™ in USA mean

(1) Lobbying for Signing Treaty

(2)  Delaymmg or Preventing the Passage ol a Bill
(3)  Passing a Financial Bill

(4y  Preparing ground work for impcachment

Who 1s immediate successor to ULS. President it both the posts of President and Vice-
President fall vacant ?

(1} Chict Justice of USA
(2)  President Protempore (Scnate)
(3)  Sccretary of State

(4)  Speaker of the House of Representatives

Which of the following statements about Administrative System of U.S.A. 1s not correct ?
(1) Senate has 100 members.

(2)  House of Representative has 435 members.

(3)  The retirement age of a Judge ol Supreme Court in U.S. AL 15 73,

(4)  The Legislature, Executive and Judiciary are separate at the State level also.

Which of the following s not a trend of Development Administration in the 1990s 7
(1Y An cnabling administration

(2)  Micro-management

(3)  Management culture

(4y  Decentralization and Managerial autonomy

Which one of the following role designates burcaucracy as an agent of political development ?
(13 Provision of education and health scrvices

(2)  Working for the removal of untouchability

(3)  Promoting cultural and sports acuivities

(4)  Engaged in the wellare ol Tubourers

In which year ‘Department ol Financial Services’ under the Ministry ol Finance was

created 7
(1y 2005 (2y 2006
(3) 2007 (4y 2008

Paper-TII 10 JA-014-17
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Which of the following subjects falls outside the cxclusive power of the Union
Government to levy taxes ?
(1y Customs Duty €2y Tl Tax

(3)  Capital Gains Tax (4)y  Corporation Tax

Assertion (A) ¢ To maintain the independence ol action and the dignity ol its position
mcembers of Parliament have certain privileocs,

Reason (R) : A member ol Parliament is exempted from arrest in any case during the
continuance of a meeting of the chamber or committec and during period of 40 days
before and after such meeting.

Codes :

(1} Both (A) and (R) arc correct and (R) 15 the correct explanation of (A).

(2)  Both (A) and (R) are correct but (R) 15 not the correct explanation of (A),

(3)  (A)is truc, but (R) 1s talsc.

4y (A s false, but (R) 15 correct.

Which of the following 1s not correct regarding the Ministry of Personnel, Public
Grievances and Pensions ?

(1) Itis the coordinating agency ol the Central Government in personnel matlers.

(2)  Ttis under the overall charge ol the Prime Mimister.

(3)  Itworks for promoton of responsive and people oriented administration.

(4y Tt compriscs of two Departments.

By which of the following procedure a member of Union Public Service Commission 1s
removed on the grounds of mishchaviour 7

(1} By the President on the recommendation of Cabinct

(2) By the Impeachment ol Parliament

(3) By the Chairman ol UPSC

(4) By the President after enquiry and verdict of Supreme Court

Consider the following about "Sevottam’™ and select the correct answer using the codes
aiven below

(1) It is related with Benchmarking cxceellence in service delivery.

(i1) It focuses on improving the quality of scrvices provided to citizens.

(i11)  The nodal ministry for this is the ministry of Home Affairs.,

(1v) It aims at speedy disposal of the gricvances of citizens,

Codes :
(1) (1), (i) and (ii1) (2) (D). (i), (i1]) and (iv)
(3) (1), (1) and (1v) (4y (i), (i) and (iv)

Paper-IIIT 12 JA-014-17
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Consider the following regarding the scope of personncl administration and select the
correct answer using the codes given below :

(1)  Classification and Recruitment
(1) Assessment and traming needs
(i) Perlormance evaluation and maintenance of service records

(iv) Appreciation, Rewards & Incentives

Codes :

(1y () () & (i) (2) (), (n) & (1v)

(3) (1) and (1v) only () (1), (11}, {111y and (1v)
Which of the following are the components of Budget in India ?

(1) Revenue Receipts (11)  Capital Receipts
(i11)  Revenue Expenditure (1v) Capital Expenditure

Select the correct answer by using code given below :

Codes :
(1) @) & Gii) 2y (i) & (iii)
(3y (1) & (1v) (4y (0, (u), () and (v)

; all : i . . : ; .
According to 14" Finance Commission, which State got the highest amount as grant-in-
aid for Revenue Deticit States (2015-2020) 7

(1) Jammu & Kashmir (2)  Himachal Pradesh

(3} Andhra Pradesh (4)  West Bengal

Which of the following statements aboult the functions and role of the CAG are correct ?
(1) The scope and extent of audit is determined by the CAG,
(i1)  CAG can carry out cconomy, ctficiency and etfectiveness audit.

1) CAG’s power to audit can be curtaled, conditional or prohibited under any law
I I ¥

applicable to the Body or Authority.
(1v) CAG’s report 1s always subject (o scrutiny by the Parliament,

Sclect the correct answer from the codes given below .

Codes :
(1) (@), (i), Gii) and (iv) (2) (i), (i) and (i)
(3) (i), (ii1) and (1v) (4) (i), (iii) and (iv)

Paper-IIIT 14 JA-014-17
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36. Which onc of the following statements 1s wrong about Goods and Scrvices Tax (GST)
Council in India ?
(1y  Prime Mimister of India 1s ex-olficio chairman of GST Council.
(2y  Mimster of State for Finance, Government of India 1s a member of GST Council.
(3)  Finance Ministers of States arc 1ts members,
(4y  Union Finance Minister 1s the Chairman of GST Council.

37. Which of the following statements regarding the Central Information Commissioners 1s

Hgorreel.

(1) They are appointed by the President ol India.

(2)  The Committec comprising of the Prime Minister, leader of Opposition in Lok
Sabha and a Union Cabinet Minister nominated by the Prime Minister recommends
their numes for appomtment.

(3)  They can be removed from the office on the like manner as that of the Comptroller
and Auditor General.

(4)  They hold office for a term of 5 years or uplo the age of 65 years whichever 1s

earhier.

38.  Which of the lollowing statement 1s not correct regarding Central Vigilance Commission 7
(1) Tt is a statutory body,
(2) It comprises ol one chairperson and maximum 4 members.
(3)  They are appointed on the recommendation ol a committee comprising ol Prime
Minister, Home Minister and Leader of Opposition in Lok Sabha.,
(4y  Itenjoys the powers ol a Civil Court.

39, Which of the following 15 the correct rato of Members taken m each ol standing
Departmental Committees of Parhiament [rom Lok Sabha and Rajya Sabha respectively 7
(1) 21 and 10 (2) 15and 10
(3)y 24 and & 4y 16 and 8

4.  Who among following has given the concept of ‘National Survcillance State” 7

(1Y  Paul Krugman (2)  Jack Balkin
(3)  Nandan Nilekani (4)  Wwahat Habibullah

41. Assertion (A) : Chict Secretary of a State is the king-pin of the Sceretariat,
Reason (R) : He has absolute control over all the admimistrative officer of the State.
Codes :
(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(2)  Both (A) and (R) are correct but (R) 15 not the correct explanation of (A).
(3)  (A)istrue, but (R)1s false.
() (A)is false, but (R) 18 correct.
Paper-IIIT 16 JA-014-17
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Which one of the following is the nodal Ministry for National Human Rights Commission 7
(1) The Mimistry ol Social Justice and Empowerment

(2)  The Mimistry of Home Allairs

{3y The PMO

(4)  The Mimistry of Personnel, Public Grievances and Pensions

A model ol Development does not relate to which one ol the lollowing factors ?
(I} Status quo (2) Planning
(3)  Innovation (4)  People orientation

Rescarch concerning some natural phenomenon 1s an example of which of the following 7
(1} Descriptive rescarch (2)  Analytical rescarch

(3)  Applicd rescarch (4)  Fundamental rescarch

Which onc of following sampling design 1s based on the casc of access of population
clements to be selected for inclusion in the samplc ?

(1y  Judgement sampling design (2)  Accidental sampling design
(3)  Convenience sampling design (4)  Area sampling design

Which ol the following statements are correct regarding merits of mterview method of

data collection ?

(1) The method provides greater {Texibility for obtaining information.

(11) It helps in obtaining personal mformation In an easy manner.

(i11) The presence of intervicwer sometimes over-stimulates the respondents.
(1v) Obscrvation method can as well be applied to recording verbal answers.
Sclect the correct answer by using codes given below .

(1) (1), (11) and (111) (2) (1), (1) and (1v)

(3) (1), (11) and (1v) () (1), (11}, (111) and (1v)

Who introduced the case study method to the ficld of socral investigation ?
(1y  William Healey (2)  Frederick Le Play
(3} Charles Hoston Cooley (4) I Odam

Paper-TII 18 JA-014-17
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48.  Which one ol the following 1s mcorrect regarding Right to Education ?

(1) Free and Compulsory Education to all Children (6 — 14 years).
(2)  Inclusion of backward religious minorites children in private unaided schools.
(3)  Seats in unaided private schools are reserved lor inclusion at Grade [ or pre-primary

level.

(43 The rules for inclusion has been lramed by State Governments.

49.  Which of the following 1s not correct regarding the functions of National Commission for
Protection of Child Right 7
(I} Tocxamine and analysc the laws and safeguards for protection of children.
(2)  To enquire into the cases of violatton ol child rights and make suntable
recommendations in such cases.
(3)  Toenquire into cases pending before the State Commission for Child Rights.

(4)y  To promotc rescarch activities in arca of child rights.

3. Which of the following statcments about civil society organization arc correct 7 Answer
by using codes given below :
(1) They play an active and constructive role in political lifc.
(11)  They can create opportunities lor the people (o gain participalory experience.
(i11) They make laws for social development.
(1v) They help foster honest, transparent, democratic and accountable governance.

Codes :
(1y (), (11), (111) & (1v) (2) (1), (1), & (1v)
(3 (0. (0 & am (D, (n) & (v)

£
[a—

“The public and the private sector has to be integrated together. The Government’s object
1s not to build a monolithic state of socialism but to make pecople as partners in a common
enterprise.” This statement was made by

(1y T.T. Krishnamachar (2) J.I. Nehru

(3) 5.5, Khera (4) Narcndra Modi

52, Which of the following measures formed part of the new economic policy, 1991 7
(1 Devaluation
(11)  Disinvestment
(1) Foreign Direct Investment
(1v) Extension of factlitics available to forcign investors to the Non-Resident Indians.

Select the correct answer [rom the codes given below :

Codes :
(1} (0, (11), (111) and (1v) (2) (1), (11} and (1i1)
(3) (1), () and (1v) (< (), (o and (1v)

Paper-TII 20 JA-014-17
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33. The advantages of globalization include which of the following ?

(1) It has created consumer fricndly environment.

(i1) It has enabled Indian companies to find intcrnational market.

(i11) It has facilitated ncreased flow of investment from developed to developing
countrics.

(iv) Technological devclopment has resulted in reverse brain-drain in developing
countries.

Sclect the correct answer from the codes given below .

Codes :
(1y (0, (1D, (1i1) and (iv) (2) (1), (11), & (1ii)
(3y (1), (111) & (1v) (4 (i) & (iv)

54, Select the correct objectives ol International Monetary Fund by using codes given below
from lollowing :
(1) IMF promotcs international monctary cooperation.
(1) IMF fucithitates expansion of balanced growth ol international trade.
(i11) Laymg down commonly accepted code of conduct with view to reducing trade
barriers.

(1v) IMF promotes exchange stability.

Codes :
(y (1. 41 (2) (1), (11), ()
(3) (). (i), (v) @) (i), (i), Gv)
33. Match List — I with List — II. Sclect the correct answer from the codes given below
List — I (Year) List — II {Committees)
(a) 1949-5] (1)  Local Finance Enquiry Committee
(by 1953-34 (11) Taxation Enquiry Committee
(c) 1963-66 (111) Rural Urban relationship Committee
(d) 1985-88 (1v)  National Commission on Urbanisation
Codes :
a b g d
(ly 1l i1y
2y v 1 8 11

) Hoii iy i
4y i i iv i

56.  Which of the following 1s not the objective ol Rural development in India 7
(1} Changing thc attitude of the people towards the development ot the rural
community.
(2)  Establishment of grass-root democracy with Panchayat Raj Insututions.
(3)  Fulfilment of basic neceds.
(4)  Strengthening Political Leadership at the State Ievel,

Paper-IIIT 22 JA-014-17



Www.prepp.in frepp

33,

e
o

£
L

50.

Your Personal Exams Guide

F=fAtEd T T HE T JEUSER0] o AN T 9TEe 7 )
(]} .{E E:lH\ 'SE]QW\ D ;_____’a:__ﬂ-’\*' SIGIELEIRED] Tr?‘_‘TI-T:rUT %ﬁaﬂ %_' |

-a

(iil) ZOH [Fad =30 ¥ [FHeie 230 &1 31X 9 o9 & ¥a% 0 35 55 ¢ |

(iv) WITEITNTERT TR & Sotearsn fashidd ST SuicdT TeTd (3 S) i Ydiad] 5591 5% ¢ |
A

(1y (1), (i1), (ii1) 3T (iv) (2) (i), (i), 2 (i)

(3y (1), (ii1) 3T (iv) (4 (ii1) 3T (iv)

AT 521 T 2 I el 9 2RI T 0 & el 3594l &1 99 &l

(i) AETHUFR, UL g FanT F 9gEr Sel © |
(i) STEUH.0F TR SR % Teferd e 7 & & Fed s 7 |

)

1

(iil) TR 2T B HH F 6 70 WA G R G AR SR HeE wer g o
(iv) AEUH.US, [a-g eahed 0 @zar ol 6 |

He :

(1) (1), (ii) (2) (i), (ii), (iii)

(3) (1), (111), (iv) (4) (D). (i1), (iv)

gl — [ 367 g7 — |1 T GHlo i | 1 =50 T %21 1 9e19d 9 T6l It ] T2 e :
=i - 1 T — 11

A 1949.51 5. ©EE &Y ST g

b. 1953-54 i, HUYR A A=

¢ 1963-66 . T 9B Wy |t

d. 1983-88  iv. VBRI UL TR TR

H
a b % d
(1 1 1 111 v

(2 ivoq i i
3y i i iy
4y i i iv i

et & € S €1 9Rd 9 WA fee e T8l 8
(1) DT TR & @R & 4fd ST & Sieehm H F5er
(2) TETET TS TR & T STHAET W 9L AR i AT
(3) T AR H M

(4) TSI TR G TSHITE TG0 B GLE T |

JA-014-17 23 Paper-IIT



Www.prepp.in frepp

Your Personal Exams Guide

57.  Which ol the lollowing statements about the funding pattern of Deen Dayal Upadhyay

Gramin Kaushalya Yojana (DDU-GKY) are correct ?

(1) The Centre bears 75% und the States share 25% ol the expenditure.

(1)  90% funds are provided by Centre 1 case ol the North-East States while 10% 15
born by the N-E State.

(111)  The Rato of sharing the fund 15 30 : 50 between the Centre and the States.

(1v) The ratio of sharing the funds between the Centre and the North-East States is
70} : 30 pereent,

Sclect the correct answer from the codes given below

Codes :
(1} (), (11), (111) and (1v) (2) (1) and (i1)
(3} (1), (111) and (1v) (4) (1), (11} and (111)

58.  Which ol the following does not form part ol the recommendations of the second
administrative relorms commission as measures (o ensure accountabtlity and transparency
at the local government level 7

(1) Creation of a scparatc standing committee of the State lcgislature for the local
bodics to function in the manner of a Public Accounts Committec,

(2) A mcchanism to assess the performance of local bodies involving there in citizens’
participation.

(3)  Constitution of Audit Committces at the district level to exercise oversight,

(4)  Empowecring the State Finance Commission to allocate grants to the Zila Parishads.

59,  Rural development programmes can be categorized in which of the following categories 7
(1) Programmes for sell-employment and wage employment.
(11)  Programmes for rural infrastructure and mimimum basic needs.
(1) Programmes for natural resource management.
(1v) Programmes for social security.

Sclect the correct answer from the codes given below

Codes :
(1} (0, (11), (111) and (1v) (2) (1), (11} and (1i1)
(3) (1) and (1v) (4dy (i) and (ii1)

6l. Thc Mulu-statc Co-operative Socictics Act was passcd by Parliament 1in which of the
tollowing yecar 7
(1y 2000 (2) 2001
(3) 2002 (4) 2003
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TTE AT TR |

(2} FTITERT 2] WETET o W TR (9T & STaiea & Todie o o U g7 |

(3)  TA0T & TAU T T O SE-e W s T

(4)  TTen 9RURT 1 TR % 3TEE & (o7l =9 fad 21N &l FeTaaehv]

THIOT TR FIEHHAT 3l FEATeEd S0™l 5 ¥ R 0T | eI (51 5T 9ed & 2

(i) TSR SR gy TSR & o FHTashe

(i) T RT3 AT Ool ATEvharal @ e FHEshy

(ii1) T TEEH A€ % 010 e

(iv) AT TR o [T HIaes

A9 feg T8 F2T 9 © Tl 3U H AT B

T

(1y (i), (i1), (ii1) T (iv) (2 (1), (1) 3T (i)

(3) (i) FIR(V) 4y (1) AT

TG ISR WESHIAT Fadr e 98 517 98 au J1Rd Te3r =T 9
(1} 2000 2y 2001
3y 2002 (4y 2003
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Assertion (A) ¢ A statement by government what 1t intends to do such as law, regualtion,

decision, order or a combination of these, 15 known us policy.
Reason (R) : The lack of policy statement may also be an implicit statement ol policy.
Codes :
(1)  Both (A) and (R) arc correct and (R) 15 correct explanation of (A),
(2)  Both (A) and (R) arc correct, but (R) 1s not correct explanation of (A).
(3)  (A)is truc, but (R) 1s talsc.
() (A)is false, but (R) 15 truc.

Who wrote ‘Politics : Who Gets What, When, How™ 7
(1} Harold D. Lasswell (2)  John Rawls
(3) B. Guy Peters (4)  Jackic Calms

-

Which one ol the lollowing theories believes thal people are passive, apathetic and 1l

imformed about public policy 7
(1) Group Theory (2)  Elite Theory

(3)  Insututional Theory (4y  Game Theory

Who i1s the key proponent of the bottom-up approach of policy implementation ?
(13 Richard Elmore (2) — Carl Van Horn
(3)  Donald Van Mcter (4)  Danicl Mazmanian

The term “hackward mapping™ refers to

(1Y  Top-Down approaches to policy implecmentation

(2)  Bottom-up approachcs to policy implementation

(3)  Third Generation of policy implementation approaches

(4y A way of studying policy designs

Assertion (A) : Public policy refers o the action and mtentions ol the government.
Reason (R) : The intentions in real sense determine the action ol the government.
Codes :

(1) Both (A) and (R) are correct and (R) 1s correct explanation ol (A).

(2)  Both (A) and (R) are correct, but (R) 1s not correct explanation ol (A).

(3)  (A)is true, but (R)1s false.

()  (A) s false, but (R) 15 truc.
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TR (A) : TIHR FH goeg 997 T8 Iooid T3] STTe & T o7 faly. fafae, Mo, ey
STTAT T WA 71 & 3l 0 218 7 T ArEEr 8, A FEAr 7 |

TF (R) ; iTd aaTed =67 781 8147 97 3Td{igd #iid ereed 37 S |
% :
(1) (A) T (R) ZFT T&T & T (R), (A) T Tl AT E |

(2)  (A) T (R) T T €. T (R), (A) 1 T8I =0 761 & |
(%} {’j&} {—If:"l %’,‘ T (R) | %_ |
(&) (A) o & T, (R) T

7 TR e € - uilerieay - z J\E_\H i e e
(1) wes . e (2) i e
(3) 1 T TRl 4] S

feleiEd 9 9 %9 97 T9gd 98 T & 19 ofie A9id & &8 ° S0 MSehd, 3918 Ue 9o
SRR TIdT & 7

(1) w5 fEg (2) 3T TEsTd
(3) I fEET ) w fag

A1 SEFEE % SEH STAH 1 &7 Waias HH ¢ 7

(1) =g Tenn (2)  =HeT = &4
(3) EFEE AT Hiel (4) EMUS AEETA

o AL o S o - - b - B
Yelehd g HITT FIERTEEA] ohl [FHTshd W W =6-4T 2THATT 7 7
AR A ., -,

(1) =T BFareEs & Jamma] S
(2y T HEATEET T FZE ITETH

(3) '_m} =2 qr:a’“: ST+ a'_ﬁ fqmﬁ ;
(4) Aifer aifiere % erera U Ed

e

>

STTHU (A) 2 &1 e TR & 1 21T T & S0 sl

a% (R) ; U ar&dd H 9{hE & % &l T4 L & |

B :

(1) (A) 3T (R) THT |l & 31T (R), (A) T Tal S 7 |
(2} (A) 2T (R) TH1 921 & AT (R), (A) T TET SITET1 el € |

(3)  (A) TET &, &1l (R) T & |

(4)  (A) oI ¥, T (R) TR |
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67. Which of the following statements arc correct regarding burcaucracy ?
(a) Collective name given to the body of cmployees.
(b)  Body of officials in authority relationship within an organization.
(c)  Comprises of appointed employvecs only.
(d)y  Employces of autonomous corporations are also said to belong to the burcaucracy,

Select the correct answer by using codes given below |

Codes :
(1) {a), (b)and {(¢) (2y (b)), (¢) and (d)
(3 (a), (¢)and (d) (4y  (a), (h), {c) and (d)

63. Training under Deen Dayal Upadhyay Gramin Kaushalya Yojana includes :
(1) Generic Traimning
(i1) Trade Specitic Training
(i11)  On the Job Training
(1v) Long-term tramming of 5 vears.

Select the correct answer [rom the codes given below :

Codes :
(1y (), O (), (iv) (2) (1), (), (i)
(3} (1), (1) () (111}, (1v)

69. Failure of community development programmes in India can be attributed to which of the
tollowing causes 7 Answer by using codes given below
(1)  Uneven distribution of the benctits of the programme.
(1) Untramed personnel.
(1) Lack of functional responsibility.

(1v)  Absence of clearly defined priorities in the programme.

Codes :
() (), () & (1v) (2)  (ii1) & (iv)
(3) (1), (i), (iil), (iv) (4)y (D). (1ii) & (iv)

7. Which of the following 1s not a part of the implementation model of the Deen Daval
Upadhyaya-Gramin Kaushalya Yojana (DDU-GKY}) ?
(1} Ministry of Rural Devclopment
2y DDU-GKY Skills State Missions
(3)  Project Implementation Agency

(4)  Block Development Officer
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ATl % Ty W el s 0 @ w9 W w2

(1) HUARA & [FE F o0 GHEs a0 G52 S g |

(b)  ETT F G TG TE el WY o STeRIAr W e |

(¢) TaF Fgea H=R & I 81 & |
(d) TS AT o FHER | ARE € GEd 2§ |
T

(1) (), (b) 3T (¢) (2) (b, (¢) T ()
(3)  (a), (¢) HT(d) (4)  (a). (b), (¢) 3R (d)

1 TATET JUTEATS U0 SRV SIS & S uiereqo § i 7 9 g9y ainfad 7o
(iy SHRE (W) e (i) =IaEe favm wiemor
(iii) =™ IT HTereyor (iv) 5 @Y 6T SIERTCT AT9TeToT

AT 50 T 2] il Weren ° Tel 3% F 999 &

ohd :

() (1), (i) (1), (1v) (2) (1), (i), (iii)
(3) () 01) (4) (), (1v)

qRA T ATEITa (o SR &1 TSl o ie@d 5 F T R 1 Iaiarl Saaar A
AT & 9 AT 1520 TR 2] F FUART el 50 ST Al

(i)  oHTEISH o TTH ST ST o]
(i)  wferier s

(i) FATEE STREEE H FH]

(iv) EsHT ¥ o5 T9 § 9T Urafasha et 1 emaferta

ohd :

(1) (i), (iii) 3T (iv) (2) (i) 37T (iv)
(3} (D). (D), (i), (iv) @) (i), (iii) ST (iv)

AT | F 91 19 2416 ST T FI9ed arsr (DDU-GKY) 3 waraaT afed
I AW 61 & 9

(1) TTeToT FaehTer TaeTs

(2) TIET-SHAT. HIYEE T T

(3)  URASH HEFEEE TS

(4) vEs gy s
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Which of the following statements about MUDRA Bank are correct ?

(1) It is a financial institution in India under Public-Private partnership.

(i1) Tt provides loans at low rates to small entreprncurs.

(1) Itis an institution for micro-lfinancing.

(1v) The bank will have an mitial corpus of T 20,000 crore and a credit guarantee lund of
X 3,000 crore

Select the correct answer by using code given below :

Codes :
(1) (n)and (11} (2) (1), (11} and (111)
(3y (1), (myand (1v) 4y (o, (i and (1v)

Which of the following statements about Economic Management Com mxa%mn arc correct ?

(1) It was constituted by a resolution of the government of India on 4 September,
2014

(i1) It was created by an Act of Parliament.

() It1s concerned with review of budgetting process.

(1v) Tt 1s to suggest ways to improve allocative efficiencies in the cxisting cxpenditure
classification system.

Sclect the correct answer from the codes given below .

Codes :
(1y (), (1), () and Ov) (2) (1), (n)and (1)
(3) (), (111) and (1v) (<) (1), (111) and (1v)

Assertion (A) @ Balance ol power between elected wing and Executive wing at the level
of urban local bodics should be equal.

Reason (R) : This will ensure better working together towards a common development
goal of the city.

Codes :

(1) Both (A) and (R) are correct and (R) 1s correct explanation ol (A).

(2)  Both (A) and (R) arc correct, but (R) 1s not correct explanation of (A),

(3)  (A)istrue, but (R)1s false.

() (A)is false, but (R) 15 truc.

Which of the following is not a subject of 12" Schedule of Indian Constitution ?
(1} Public Amenitics

(2)  Regulation of Slaughter houses

(3)  Planning tor cconomic and social development

(4)  Public Distribution System

Assertion (A) @ Urban Local Bodics suffer from empowerment deficit,

Reason (R) : There is promisc-performance gap in the capacity building of urban local
bodies.

Codes :

(1) Both (A) and (R) are correct and (R) 1s correct explanation ol (A).

(2)  Both (A) and (R) arc correct, but (R) 1s not correct explanation of (A).

(3)  (A)is true, but (R) 1s talsc.

4y (A)s false, but (R) 15 true.
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TRT ek o AR T AR T 9 67 T T €

() WSR-S SR S TS T 9 S U A e E

(i) oTF JITAT 6 TE T 3 U KT IUeTe FHLA 7|

(ii1) ¥% GeH-Tore AT % TeTu 0eh T8I 7 |

(iv) =% & URISTeR oy M ¥ 20,000 02 & 991 IRF M=l T 3,000 FU2 & 807 |
ETE

(1) (1) @4 (i) (2) (). (11) 9 (iii)

(3) (i), (3i1) T4 (iv) (4) (i), (1) T (i)

[TETegd § 9 & § 0 A0 e 3Ta0 % a § 95 761 § 7

() TP A 4 TOaER. 2014 1 YR TR o TTe g7 63 T3 97 |

(i) =R 90T THEEE 2 FRT {49 T AT |

(i) T% FoT FHTor uieFar & auien ¥ 9ata g

(iv) I FTHT 2899 GITRL0] YOTE! 1 (2T e ° 99 A o o8 SURET & 928 8 2 |
=1 fo T $2T | WET ITL HT T S

T

(1) (i), (D), (i) & (iv) 2) (i), (i) # Gii)

() (i), (i) 3R (V) 4) (i), (iii) 3R (iv)

T (A) @ IEY T AT 2 TR W Fal=d 16 HEHon S % are Tal-Gae T
T (R) : % T o TiE FSRMa-a1eg 1 a0 2314 (et HIT YT 1 9iAivad s |

ohd :

(1) (A) T4 (R) TAT TR T4 (R), (A) T T T |

(2)  (A)TIT (R)THT W&l &, & (R), (A) T W8T =N 761 & |

(3)  (A) W8I, W (R) Td & |

(4)  (A)TET &, T (R) TR & |

TTEAEd T 3 |1 RAE Glerd 3l 1287 3T &1 6w T8l & 7
(1) IeF gherend

(2) FIEEN 1 AHIad

(3) et we wrTsT fae it amarsn

(4y  HFATTF fEaT0r JoTraT

HANTHT (A) 2 6L T e ieaeoT &1 &0 & JaT ¢ |
T (R) 1 T T ST & e e § AR e & A st ¥
He :

(1) (A) @1 (R) a7 T8 & @7 (R), (A) 1 T8 W= & |

(2)  (A)TIT (R) ST &1 & T (R), (A) i T&T 28180 T2 7 |

(3) (A)WENE, W (R) T & |

(4) (A)Te s W (R) W8T & |
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